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= 2,125
Al 2,125
307 glz2tol & 4,250 4,250 0
= 2,125
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L= B
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CEBIE
OtEHAE =X

=K
OEHAE BENY Y £5

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 2,125
02 It M AMHEE 4,250 4,250 0
OFadRoiard 2AH 29 4,250
= 2,125
Al 2,125
HAHNZEM 2 SNEA|L NI (EX) 9,250 9,750 A 500
< 8,000
Al 1,250
307 21201 A 9,250 9,750 A 500
< 8,000
Al 1,250
11T AR SXAIEE = 9,250 9,750 A 500
OFAHNZEM & STNZHUY u=s 6,250
= 5,000
Al 1,250
O&A4d Az AGHE T8 XA 3,000
< 3,000
HAE SENIAMAHARS(ER) 87,670 85,500 2,170
p] 43,835
Al 43,835
307 21201 A 87,670 85,500 2,170
J| 43,835
Al 43,835
11T MISXASEX 87,670 85,500 2,170
OFAESENENATLS 87,670
J| 43,835
Al 43,835
Hid 2B AAEY(EX) 1,550,000 1,195,000 355,000
Xl 700,000
Al 850,000
401 AIEHI L 201 1,550,000 1,195,000 355,000
Xl 700,000
Al 850,000
01 A& HI 1,538,516 1,183,516 355,000
OFLEHSEHT 22X WYLl (2XH2/B5X) 680,000
OFagd=dEa AE A& 858,516
Xl 690,812
Al 167,704
02 Zeltl 9,222 9,222 0
OFAExEHZ g SAtZ el
870,000,000& *1.06% 9,222
X 7,378
Al 1,844
03 Al 2 THHI 2,262 2,262 0
OBAEST AY A&y
870,000,000& *0.26% 2,262
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=K
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- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Al 1,810
Al 452
HAaE ALe|d U3 5,000 5,000 0
307 2Iz2t0| A 5,000 5,000 0
11 A EXAIEEX 5,000 5,000 0
OHM153 Al EAE ALe|d] 3 5,000
HUEo Y sAIRY 5,000 5,000 0
307 2iz2to| A 5,000 5,000 0
11T A EXAIEEX 5,000 5,000 0
020168 A3 & A 5,000
Helol & sAIed 10,000 10,000 0
307 QI2t0| & 10,000 10,000 0
11T A EXAIEEX 10,000 10,000 0
OM943 Helol 2 &K 10,000
Xelsh Z3ad 2M)| &0t 3,000 3,000 0
307 212t0| & 3,000 3,000 0
11 A EXAIEE X 3,000 3,000 0
OHM?203 Xelar #2AHE ZMD| &0t 3,000
HAHW EHIKF(EX) 5,660 5,660 0
J| 4,000
& 830
Al 830
307 2Iz2to| & 5,660 5,660 0
J| 4,000
= 830
Al 830
11T AISIEXAIEEX 5,660 5,660 0
OFAEEYEI & 5,660
J| 4,000
= 830
Al 830
sty g MAE SEXY TOURH(EX) 69,000 67,000 2,000
J| 48,300
Al 20,700
307 QI2t0| ™ 69,000 67,000 2,000
J| 48,300
Al 20,700
11T A EXAIEEX 69,000 67,000 2,000
Ostust 344 STz ) 29 69,000
J| 48,300
Al 20,700
HAHE SEI T2 29 (2X) 58,320 30,210 28,110
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VEEBIES
JEEPNE

-

Sl OSHAE BEXR L B35 (B9 ®R)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Pl 29,160
Al 29,160
307 2iz2to| A 58,320 30,210 28,110
J| 29,160
Al 29,160
11T AISIEXAIEEX 58,320 30,210 28,110
OFAE SEHX ZE2)d 2914 58,320
J| 29,160
Al 29,160
StNEANR WWERA NA(EX) 5,000 5,000 0
& 1,500
Al 3,500
307 QI2t0| ™ 5,000 5,000 0
& 1,500
Al 3,500
11 Al EXAIEEX 5,000 5,000 0
Ost=Zd Mz WERA XA 5,000
o=t 1,500
Al 3,500
HE2AE 249X 22,053,889 20,263,679 1,790,210
= 10,131,200
= 7,940,904
Al 3,981,785
BESAE X g4 31,820 31,820 0
201 et 1,820 1,820 0
01 AFR 2t 2| H| 1,820 1,820 0
OEEAdMARZ EFALEE 70,0008 *x13H 23] 1,820
307 2iz2tol A 30,000 30,000 0
11T AISIEXAIEEX 30,000 30,000 0
Ooglold Esnaa #xorz 20,000
ONelold oM ZEME B2 10,000
EEANE SXNSEMN(EX) 516,034 548,053 N 32,019
& 147,113
Al 368,921
307 2Iz2t0| & 516,034 548,053 N 32,019
= 147,113
Al 368,921
11T A EXAIEEX 516,034 548,053 N 32,019
WAF HIH&HI 434 134
= 130,240
Al 303,894
OQHEIIIES HEold dHutetd] A& 76,967
== 15,393
Al 61,574
OFAXNY Helold 29l 4,933
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= N W
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[mn

= M H
N S e,

= W

=z M H

,990,787
218,727

,609,363
,304,682
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671,740
335,870
167,935
167,935
100,320
48,154
15,048
37,118

4,935,932

1,054,855

= N H

37,299
18,649
9,325
9,325

40,428

A 3,129

307 21201 A

= H W

37,299
18,649
9,325
9,325

40,428

N3,129

1A S XA E =

O0eold wiMw>H X

= M W

37,299
37,299

18,649
9,325
9,325

40,428

A 3,129

SOEALE HB2YH NB(2X)

= N W

14,371
7,186
3,520
3,665

20,199

N5,828

307 glz2tol &

Z W

14,371
7,186
3,520
3,665

20,199

25,828

Mo

14,371

14,371

7,186
3,520

20,199

N5,828
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OSHAL

g dadE =X 58
o9l BRAE 2YXNH EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| Al 3,665
ZOHOtE EAIE W w-Hl 2,000 2,000 0
307 gl2tol & 2,000 2,000 0
11 ALSI S RALEE = 2,000 2,000 0
OFOHOF MEAIE DMHw-H XA 2,000
EFAE MR AH =2 08| 6,300 6,300 0
307 glz2tol & 6,300 6,300 0
11T M Z2XAISE EX 6,300 6,300 0
O0eold MRaIH 2208 X 6,300
=0l s0tS s 10,000 10,000 0
307 21201 A 10,000 10,000 0
11T MISRASEX 10,000 10,000 0
OE=¢l sitsisl 10,000
ESANE EML HR2HA 72,000 76,200 A 4,200
307 21201 A 72,000 76,200 A 4,200
11T AL SXAEE = 72,000 0 72,000
OBSwA Zais¢ 72,000
A& Dlolgots ¢=XJ(EX) 1,959,862 1,904,574 55,288
= 1,269,989
< 337,110
Al 352,763
301 et d=s 1,959,862 1,904,574 55,288
= 1,269,989
< 337,110
Al 352,763
01 MEI2EZE 406z 1,959,862 1,904,574 55,288
ONggs=49 & 1,959,862
= 1,269,989
< 337,110
Al 352,763
R0t B2 NJA(BX) 12,876,874 12,347,603 529,271
= 5,560,408
< 5,828,690
Al 1,487,776
301 et a =z 12,876,874 12,347,603 529,271
= 5,560,408
< 5,828,690
Al 1,487,776
01 MEIBEE 263 12,876,874 12,347,603 529,271
O0-2M E=0t ES2 8,239,474
= 5,560,408
< 1,197,626
Al 1,481,440
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50,648
10,853
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= N W
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10,853
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35,340
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A,
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HE: OlSHAE =X B

el FANS OIS HAE XK EEREED
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SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2

301 gt L= 223,400 235,040 A 11,640
< 35,340
Al 188,060

01 MEI2EZE 45z 223,400 235,040 A 11,640
OEsliaols Moty K& 65,000
< 19,500
Al 45,500
OJIEAE0ts 25l 158,400
= 15,840
Al 142,560

Y% OIS YEBEZ(BX) 64,800 72,000 AT7,200
2 45,360
= 9,720
Al 9,720

301 YerB A 64,800 72,000 AT7,200
2 45,360
= 9,720
Al 9,720

01 MI2ZE 6= 64,800 72,000 AT,200
oggots sds+4 X 64,800
= 45,360
< 9,720
Al 9,720

ZHOISYASYSEES(EX) 8,502 8,502 0
= 5,952
= 1,275
Al 1,275

301 L2 A F 8,502 8,502 0
= 5,952
= 1,275
Al 1,275

01 M EEH2G2 8,502 8,502 0
OHotsyLLd=EEXS 8,502
= 5,952
< 1,275
Al 1,275

YAHIBRA(2X) 2,700 0 2,700
= 1,890
< 810

301 YptE A 2,700 0 2,700
= 1,890
= 810

01 Al EE X =56l = 2,700 0 2,700
Ogdd XA 2,700
= 1,890
< 810
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SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Qlok=5I2 XA (EX) 3,000 2,000 1,000
== 900
Al 2,100
301 LBt A= 3,000 2,000 1,000
o= 900
Al 2,100
01 AISIE & A %52 3,000 2,000 1,000
OYs=gt=2 N 3,000
& 900
Al 2,100
NEotsHE 29 XN 19,900 16,740 3,160
301 et A= 3,900 0 3,900
01 Al E & A 462 3,900 0 3,900
OXIOtSHE WHey X
150, 000 »26 04 A 3,900
307 2iz2to| A 16,000 16,740 ANT40
11T AISIEXAIEEX 16,000 16,740 AT40
OXY90otsHdEH WAHDFY| 12,000
OHMb3 HEH=U3l 4,000
XNE0tsSHE 29 N (EX) 2,214,957 1,418,940 796,017
2 776,619
= 473,492
Al 964,846
301 et A= 661,720 1,418,940 NT57,220
= 162,844
Al 498,876
01 Al E & A 462 661,720 1,418,940 NT57,220
OXE0ot=sSHEH SAXN HR2HLH K& 51,720
& 10,344
Al 41,376
OXgotsdH Otl=s24 XN 610,000
= 152,500
Al 457,500
307 2I2t0| & 1,553,237 0 1,553,237
= 776,619
= 310,648
Al 465,970
11T A EXAIEEX 1,553,237 0 1,553,237
OXY9otsdH Jl22dd A 1,455,821
= 727,911
& 291,164
Al 436,746
OX<E0otsHdE F=IHXNJH A& 36, 168
= 18,084
& 7,234
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,257,575 1,774,425 A 516,850
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SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
O0elol=0le 22 29l 3,000
401 Al B2 28I 85,000 12,000 73,000
01 A& HI 85,000 12,000 73,000
O0&ol=0ld =071+ &X
27,500,000 *20H 2 55,000
OL258 2l0l =0IE AIE&FHI(F2A &0
&) 30,000
OISSXNAHLSE MHBIAXA(EHAEE) 20,000 0 20,000
301 L2 A= 20,000 0 20,000
01 Al EE E 563 20,000 0 20,000
OEZAEE AZ2)H 293 20,000
OIsSsSXNAHLSE MUAXNA(SHAEE)(EX) 300,000 305,000 25,000
= 300,000
101 1A Hl 132,800 108,000 24,800
= 132,800
4 JI2ZHZEXNSES 132,800 108,000 24,800
OEYHAEE JIZH 22X B+ & 132,800
= 132,800
201 L2l 27,012 35,117 28,105
= 27,012
01 At 22l 16,307 18,307 A 2,000
Oget==EH| 11,667
= 11,667
O=2geds Mg 1,120
= 1,120
O=HHlI &3l o &= 1,120
= 1,120
Oz &l 2,400
= 2,400
02 8323l 7,500 8,500 21,000
O3 & HA 3,200
= 3,200
OA&ZEHlIS X bl 2,000
= 2,000
OXt& & Bl 2,300
= 2,300
03 A2 Z Hl 3,205 8,310 25,105
SX Z20Y 2 (EAM/ES) 1,605
= 1,605
Og=s Tz )dH 2I(RL2/I=E) 1,600
= 1,600
202 o4dl 13,840 13,840 0
= 13,840
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SH: OEISD
HE: OlSHAE =X B

el HAANS otsHEAE X (22 &d)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
01 =L 13,840 13,840 0
E gyl 9,600
= 9,600
OJIZt M (=golel) Kot 2,240
= 2,240
OEZAEE 2= 2,000
= 2,000
207 Ao 620 620 0
= 620
02 & AR 2] 620 620 0
OZEANAE =X 2eld| 620
= 620
301 Lot A=z 59,587 42,216 17,371
= 59,587
01 AHBIEEZ X 0= 39,700 23,802 15,898
Oz Z2d 2 (dH/AY) 7,920
= 7,920
OE=s Zz)d 2 (2X/a0) 5,000
= 5,000
O=2X 221 2F(FM/8S) 17,280
= 17,280
Ogs ZzIY 2I(IE/R2) 9,500
= 9,500
09 EANEHIEa= 10,083 11,850 A1,767
O=2X 221 2I(FM/HS) 2,083
= 2,083
Ogs ZzIY 2I(IE/R2) 8,000
= 8,000
NIEtE2d = 9,804 6,564 3,240
ORZus s M= 9,804
= 9,804
307 glztol & 63,582 96,674 A 33,092
= 63,582
01z 2=t 11,322 22,830 A 11,508
Oz Z2d 2 (MH/AY) 11,322
= 11,322
05 22t & =3 1,200 1,200 0
ORoFH &4 1,200
= 1,200
M ASIMNSER 51,060 0 51,060
OodZZZNu=d 2,000
= 2,000
OeX/¢ Z2Odd 15,120
= 15,120
OosX=Ez0¥2dY 23,140
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= 23,140
OJNF/BEREE2 YR 10,800
= 10,800

405 TtabH S| 2,559 3,533 AQ74
= 2,559

01 AL EFHSHI 2,559 3,533 AQ74
OZFH ¢ 1,750
= 1,750
Oxa 2¢ 360
= 360
OEXFAAY 169
= 169
Oolsa MY 280
= 280

ObSsth o (ExX) 126,470 43,850 82,620
= 50,588
< 37,941
Al 37,941

301 et d = 126,470 43,850 82,620
= 50,588
= 37,941
Al 37,941

01 MEIBZE 206z 126,470 43,850 82,620
Osuloiotsdy 23 126,470
= 50,588
< 37,941
Al 37,941

BSOS IBABSALY 25} 22,000 20,000 2,000
Xl 11,000
Al 11,000

Of2I0IEE 01 CCTVA XI (2 X) 22,000 20,000 2,000
Xl 11,000
Al 11,000

401 AIEHI L 201 22,000 20,000 2,000
Xl 11,000
Al 11,000

01 A& HI 22,000 20,000 2,000
Ooglol gAME CCTV & X 22,000
Xl 11,000
Al 11,000

Lo =X 58 55,401,240 53,383, 181 2,018,059
= 38,147,431
Xl 22,000
J| 80,592
< 5,244,382
Al 11,906,835
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SN - HB B (B) - HRAY - BAS 0l &t San DS
01 MI2EZE+06l= 38,676,623 38,438,422 238,201
OJIzH3a Xa 38,676,623
= 34,808,961
< 773,532
Al 3,094,130
COARI N =X 93,500 22,000 71,500
307 glztol & 93,500 22,000 71,500
03 BIAHMEE2HHIEES 22,000 22,000 0
otgtels 3AXE 248 N 22,000
11T M SXAISE EX 71,500 0 71,500
ooolg JI1E8#HAN X2 6,000
OUst-olsl & AIXIE Sl ALK 20,000
Oligtcols sHES=23 843 & 23,000
colgs 29 8,000
ooy JggAr XA 10,000
OAZZE & HAUE X 1,500
O ot Lolhs 29 3,000
MEd D& HH(EX) 7,750 0 7,750
< 3,150
Al 4,600
307 21201 & 7,750 0 7,750
< 3,150
Al 4,600
02 HAHFHYANEEX 2,000 0 2,000
O0toI )l ESHE Mz 2528 23 2,000
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Os0tE28 A= 5,750
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Al 54,216
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< 11,000
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O2d =32 JIs:2d 10,000
< 10,000
Oguw 1653 2E JIsE2L 7,000
< 7,000
HOIEESE JIsEZS 329,000 218,000 111,000
401 AIEHI L 201 280,000 170,000 110,000
01 A& Bl 273,050 169,460 103,590
O3 dE=AHOESE ZHAZ 243,050
OLEs HAZIAHOE=SZE JIsE22 30,000
02 2eltl 5,150 0 5,150
O3 dE=AHOESE ZHAZ
250,000, 000& *2.06% 5,150
03 Al S THHI 1,800 540 1,260
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402 RI2HX20l ™ 49,000 48,000 1,000
01 A TtEAEEX 49,000 48,000 1,000
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OO0l™XH el HOIEEE 2& 1T 6,000
O0tZEH AHoEEZ JIsE2 15,000
Ogns FMIAHOE=ZE JIsE2 3,000
HOIEEZE JIsBA(BEX) 15,000 0 15,000
< 15,000
402 RI2EX=20l A 15,000 0 15,000
< 15,000
01 It 2 AL B X 15,000 0 15,000
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< 5,000
O&UH HOE=SE JIsEZ 10,000
< 10,000
Lo=Ra 24 X 480,000 430,000 50,000
307 glz2tol & 480,000 430,000 50,000
05 RIZHRI & 3 480,000 430,000 50,000
Oko=X2 223 X 480,000
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= HmnH
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616,330
105,656
158,486

= Hn W

307 glztol & 880,472 713,668 166,804
616,330
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158,486

= Hn W

1A SXAIE E = 880,472 713,668 166,804

OLolEs ZTEAMEIA AFS(236Y) 864,272
604,991
103,712
165,569
OLQl SIIIJHAFMBIA A (459) 16,200
11,339
1,944
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SEHLO - ETHM SSAHEMEIA(ER) 161,184 18,600 142,584
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AN GEIEY
¥ Lo =X 57
CHel O EE Lol SEAHA X (el @2)
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OSSHANAE =2 EZ0HI 1,500
| 750
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401 AIEHI L 20 99,000 18,600 80,400
J| 49,500
Al 49,500
01 A& HI 99,000 18,600 80,400
SS2HEAAE A XY (3000H) 99,000
Jl| 49,500
Al 49,500
HE2HL0 BHEX)| NIAAMNG(EX) 10,800 10,800 0
< 3,240
Al 7,560
307 gl2tol & 10,800 10,800 0
< 3,240
Al 7,560
11 ALS S XAEE = 10,800 10,800 0
ONsgsELo B2 XD X&(7200) 10,800
< 3,240
Al 7,560
HAS MIOUHSAMAMML (EX) 207,360 207,360 0
< 51,840
Al 155,520
307 glz2tol & 207,360 207,360 0
< 51,840
Al 155,520
11T MISXASEX 207,360 207,360 0
ONMAS MOt Ql AAMEHE (1929)
3,000 *192H +x30 «12& 207,360
< 51,840
Al 155,520
PEZEAL(ERX) 67,500 67,500 0
< 16,875
Al 50,625
307 glz2tol & 67,500 67,500 0
= 16,875
Al 50,625
11T M Z2XAIS EX 67,500 67,500 0
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= 16,875
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COHATE(ER) 12,128 12,128 0
< 1,819
Al 10,309
307 21201 A 12,128 12,128 0
< 1,819
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T 1,819
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A8E 223 A& 1,185,525 337,868 847,657
= 600,000
= 130,000
Al 455,525
ZAFAI A 325,525 337,868 N 12,343
101 @121l 31,089 48,132 N 17,043
04 JI2ZtH 22 XNEE % 31,089 48,132 A 17,043
Osstd dgz & F=H Hx o2 1,211
OZ2=2X o102 ME=ZY ol 6,054
OSsHA 2o gd 23,824
Gt 58,0003 *250! x1H 14,500
NEEEERE
7,250& =1 .58 x15A] 2t = 12& 1,958
F=x=< 3,016
s54=22 58,0003 *1.58 x50 4,350
201 Bt A | 82,276 92,576 A 10,300
01 AFR2 2t 2l dl 9,000 19,300 A 10,300
o1 =l 3,000
Ossd - 53834 29 6,000
02 3524t 73,276 73,276 0
O5sd AIE&&Hl |22l 30,000
Ods S3Y AdelHole el 3,276
O332=2 % HA 40,000
206 T2 H 60,000 60,000 0
01 X2t 60,000 60,000 0
S OtA Y| 60,000
307 QI2t0| ™ 2,160 2,160 0
05 A2t E = 2,160 2,160 0
Ossd s3dY AL 23| 2,160
401 Al HI YL 2 0HHI 150,000 135,000 15,000
01 A& HI 150,000 134,100 15,900
Osstde sotct & 100,000& *1,000H 100,000
OCCTV & Xl 20,000
O&SE HIE S A 30,000
HAAE(EX) 860,000 0 860,000
= 600,000
& 130,000
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Al 130,000
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Al 130,000
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Al 129,155
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Al 845
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oret 2 | 29,371 26,665 2,706
ol ALY 29,371 26,665 2,706
101 e1214| 29,371 26,665 2,706
03 RIHEZZXHE = 29,371 26,665 2,706
OUEEX(HLE23IME 1H) 29,371
AR 1,260,2703 x1H «12& 15,124
A0 15,124,000 /12& «400% 5,042
M=ol 120,000& x1H x12& 1,440
N FAY| 130,000& x1H ~12& 1,560
A2t 225
9,578 x15A| 2tx1 BH x12& 2,587
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1,260,270 12 x120% 1,513
254 71,500 ~12& 858
oA D8 AbH| 9,578 *x8A| 2Fx10L 767
ol &= 40,000 x12& 480
Jleddl 63,200 63,200 0
Jl2 &4l 63,200 63,200 0
201 LBt 23,400 23,400 0
01 AtR 2l b 22,400 22,400 0
OWAIF N S| 5,000
Ogtt4f2y| 17,400
02 2=2=24%H| 1,000 1,000 0
OZ2Z2=2Y A 1,000
202 044l 35,600 35,600 0
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SH: OEISD
ol HY2 YA

el JI=23Hl

SA - ZE-B(EN) - NRAY - B S il &t o il

O =L Hi 35,000
OFAad=d2 A=A FUHAH 600

203 YR =&l 4,200 4,200

04 ENSSIHRF=EHI 4,200 4,200
ORN2IYS =2 350,000& »12& 4,200

HeEs 50,000 50,000

HEAHHK = 50,000 50,000

g 8&3 50,000 50,000

702 )1 SHEZS 50,000 50,000

(O RWIE=RSE-= 50,000 50,000
O &d4msII2 ds2 50,000
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